+I -
QSM = I'ZSX > ﬁsizzs
. A+ X =3 'z 1§
(3 = (5°)

2 =3 a\P 05
(7 = X

g((?%—fl\ - 3( 3)
\z2_/ \Z_J




4, Solve.

a. 3

5. "14.]‘-

1 /5T 37

= — (i b. (3] ===
4 1 123
each equation tor positive

m.ll Hlaces.
-muhl i)
i :

FTEE
c.[%] =243 @

values of x. It answers are not exact, approximate to (i b)
2

d.5-3=5

c x ¥ = 247
I-' =

- (4x)"

..3;"1 + LI [f‘l / :__I
3y +'2=r







L X414 = 3%~
=y K }'.’?gf‘-l
¥ = -2b
) =]



Ll L

€. Look [or a connection between vour answers o 11a and b
and the values in the table. State a conjecture or write a general equation that
SUIMMArizes your ﬁndingq-

12. A ball rebounds to a height of 30.0 cm on the third bounce and to a height of
5.2 ¢m on the sixth bounce.
a. Write two different yet equivalent equations in point-ratio form, y = y, = b5,
using r for the ratio. Let x represent the bounce number, and let y represent the
rebound height in centimeters. (§)

b. Set the two equations equal to each other. Solve for r. (@

<. What height was the ball dropped from? (i

13. Solve.
1 (x+5)° _

. ] } = . I5HF =
a (x =3V =64 b. 256 T o )

2&4 CHAPTER & Exponential, Power, and Loganthmic Fungtions







